Card C (8 marks)
 (
Tesco
Baked Beans 
Normally 50p
Special offer
30% off all tins
) (
Premier
Baked Beans
Normal price 48p
Special Offer
Pay for 3 tins, get 1 free
)Kiara wants to buy 12 tins of baked beans for a barbeque. Two supermarkets have these special offers. 





 (
Which is cheaper? You 
must
 show 
your
 working out. 
Supermarket: ______________
)




Card C (8  marks)
 (
Tesco
Baked Beans 
Normally 50p
Special offer
30% off all tins
) (
Premier
Baked Beans
Normal price 48p
Special Offer
Pay for 3 tins, get 1 free
)Kiara wants to buy 12 tins of baked beans for a barbeque. Two supermarkets have these special offers. 





 (
Which is cheaper? You 
must
 show 
your
 working out. 
Supermarket: ______________
)



Mark Scheme, Card C
YOU CAN ONLY GAIN THE MARK IF YOU HAVE SHOWN THE WORK CLEARLY!
Tesco
1 mark: 		12 x 50p = £6
1 mark: 		30% of £6 = £1.80
1 mark: 		£6 - £1.80 = £4.20
Premier
1 mark: 		‘buy 3 get 1 free’ = buy 9 tins
					OR
			25% off / only pay 75% (or similar)
2 marks: 		9 x 48p = £4.32
					OR
			12 x 48p = £5.76, £5.76 x 0.75 = £4.32
Comparison:
1 mark: 		Showing that £4.20 (Tesco) < £4.32 (Premier)
Answer box: 
1 mark: 		Supermarket: Tesco

